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 1.  Computer Number Systems 

 

Solve for X8 

BAD16 = X8 + 4658  4478 

 

2.  Computer Number Systems 

  

How many 1’s are in the binary representation of the following  

 hexadecimal sum?  

 

 59A16 + B28D616 + E3E16 

  

 

3. LISP 

 

Evaluate: 

 

  (CAR’ ( ( 2 ( 3 ) ) ( 4 ( 5 6 ))  7 ) ) 

 

 

4.  Recursive Functions   

 

Find f (1) 

 

                   

 

 

5.  Recursive Functions 

  

Find f (9,4) 

 

                   

2001-2002 Contest #1 

f (x + 2 ) + x      if x  6 

x  1                  otherwise 

f (x  2, 2y ) + 1    if x  6 

f (x  3, y  1) + 2         if 2  x   6 

2x  y                             otherwise 
    f (x,y) = 

f (x) = 


